7. Validation of 2-ph operation

7.1 Start-up (VIN=12V VOUT=1V & ILOAD=40A

PSPICE Schematic:
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Description:

1. This test bench is configured to test 2 phase operation.
2. The slave operates at same frequency set by Master and RT of slave sets SYNC POINT.
3. For this test bench Master and slave operates at 500KHz and syncs at mid point.

Test Conditions and Additional Analysis Options (if any):

©ooNo oA

ILOAD=40A

MODE=23.7K for master and 51.1k for Slave.
SS=GND (Soft start time of 0.5ms)

RAMP=187k for both Master and Slave device.
VSEL=0pen Circuit

RT=40.2k and RT2=open for slave(SYNC at mid point)

10. L=470nH
11. Cout=630.1uF with ESR=2m

Simulation Results:
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Zoomed Results:
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Bench Results:
Y
Vin = 12V VOUT = TV-Few= Wz—lbﬂd:ﬂ.ﬁ

I

@B 10.0Vidiv 1MQ §y:20.0M 21.461A e\ s2v 2.0ps/div  1.0GS/s 1.0nslpt

—
T 10.0Vidiv 1MQ By:20.0Mm T [17.8A Run Sample 1
T 5.0A/div 500 By:20.0M T|3.661A 423 acqs RL:20.0k
T 5.0A/div 500 By:20.0Mm ; Auto  November 11, 2016 08:51:08

Value Mean Min Max 5t Dav Count Info
@D Freq®  [492.0kHz [492.11634k [491.7k 492.7k 126.0 4220 ]




Tabulation of Results

PARAMETER DATASHEET Bench Data PSPICE UNIT
IL1(Inductor current in - 20 19.13 A
master)
IL1(Inductor current in - 20 20.94 A
Slave)
CURRENT SHARE +-15 ~1 4.525 %
ACCURACY

ISHARE (acc) Output
current sharing
accuracy among
stackable devices,
defined as the ratio of
the current difference
between devices to total
current.
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